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�A piece of card is cut to the shape shown in the diagram. BCD is a semicircular arc, centre O, of radius 3cm. �EMBED Equation.3���cm.


Find the length of OA.


Taking �EMBED Equation.3���, calculate 


the perimeter of the card,


the area of the card.





























�Find


the total surface area


the volume


of the solid shown. (Take �EMBED Equation.3���)






































Two solid spheres have surface areas �EMBED Equation.3��� cm2 and �EMBED Equation.3��� cm2 respectively. They are melted and recast to form a larger sphere. Find the approximate surface area of this sphere in cm2.


























A cylinder and a cone have the same height, 2r, and base diameter, 2r. A sphere has a diameter 2r. Find the ratio of the volume of the cylinder to that of the cone and the sphere.



































�In the diagram, OPQ and OAB are quadrants of two concentric circles with their centre at O. P and Q are mid-points of OA and OB respectively. If �EMBED Equation.3���cm and �EMBED Equation.3���, calculate


the ratio of the areas M : N ,


the perimeter of N.












































The figure shows a cylinder tube with a hemispherical bottom of radius 1 cm. If its length is 7 cm, find the capacity and the total surface area of the tube in terms of �EMBED Equation.3���.
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Ten spheres of radius 1 cm are immersed in liquid contained in a vertical cylinder of radius 6 cm. Calculate the rise in the level of the liquid in the cylinder.






































Water is flowing into an inverted cone, of diameter and height 30 cm, at a rate of 4 litres per minute. How long, in seconds, will it take to fill the cone?
































A wheel of radius 10 cm is turning at a rate of 5 revolutions per minute. Calculate


the angle through which the wheel turns in 1 second,


the distance moved by a point on the rim in 2 seconds.
































A piece of wire 32 cm long is bent into a sector of a circle of radius 6 cm. Find the angle subtended by the wire at the centre of the circle.


























The length of an arc of a circle is 7.5 cm. The corresponding sector area is 37.5 cm2. Find


the radius of the circle,


the angle subtended at the centre of the circle by the arc. 


(Take �EMBED Equation.3���)















































The diagram below represent a prism in which each cross-section of the prism is a sector of circle of radius 7 cm, with angle at centre equal to 45o. Sectors OAB and PQR are two cross-sections where A, B, Q and R lie of the curved surface of the prism. The vertical planes OAQP and OBRP are rectangular.


Calculate, taking �EMBED Equation.3���,


�the length of arc AB,


the area of sector PQR ,


the volume of the prism ,


the total surface area of the prism .






























































Answer to Mensuration:





4 cm.





19.42 cm


26.13 cm2.








226.08 m2.


263.76 m3.





1017 cm2





3:1:2








1:3


23.5 cm





�EMBED Equation.3���cm3 , �EMBED Equation.3���cm2





0.370 cm





106 s





30o, 20.5 cm





191o








10cm


45o








5.5 cm


19.25 cm2


154 cm3


194.5 cm2
































�PAGE  �4�


EM4ESTAR.DOC





Name : _______________________	      Class : __________        Date : ___________





EM4ESTAR.DOC








 A





 B





  C





 D





  O





 3





 5





8 m





12 m





5 m





 3 m





 O





Q





 B





 P





 A





M





N





7 cm





1 cm





 O





 A





 B





 P





 Q





 R





8 cm





7 cm





45o











